16.04.23 — 27-301 — ni*7x'¥1N9'T NINIWNA — 2 TyIN [N2aN
NIYY wi7y ;jnann Jun 72'Y N Nama [T A nf2annn MUY TIR T INXM
WA [1AWNAI II¥A [IXNOI ATV WnIN 7 22 :07Re D pwun

y(e) =0n"mn (xy' — 1) In(x) = 2y A"m%7 j_no ixxn (nfan Nivwn) L1
y(0) = =2 o"n (1 + y?sin (2x))dx — 2ycos?(x)dy = 0 "7 NN Ix¥n (P20 Nwwn) .2
y(0)=0,9(0) =0 o"pnn ¥’ — 2y +y = xe?* \"mY Inno Ixxn .3
— < x <myopa f(x) = x N¥PION W N9 NIV DX IXYND .4
NMYY 00 20 7w n'M7Nnn NN ayn 17 vyay m = 1kg non waim .5

AWND 09NNN 17W N'WANN NNMNNY YA TN N2 AN NN

(g = 10 XIN YIXN 2T NXIXN Y127 D N1NY7 [N NIVYWON IX7 0'9'YOoN "IW1)

.mg N2'Ynn NId XN TN Y Wisn TN npn- X

.2V NN 7727 DN 17 TIAY TIRD DITANN NIDI mg Nd'YNn NId 0N MmN 2V D'7wI9n NINDN .2



2"own 1"Tn Jnan% jIXnon

NINTA)
f(x) f'(x0)
x™ nx™1
a* Ina - a*
log, x 1
x-Ilna
sin (x) cos (x)
cos (x) —sin (x)
tan (x) 1
cos? x
cot(x) 1
~ sin?(x)
X
arcsin (—) ;
a a? — x2
X a
arctan (a) m
eax aeax
0'71202'N
fx) [ f(x)dx
x L x"lyC
n+1
1 In|x| + C
X
sin (x) —cos(x)+C
cos (x) sin(x) + C
a* a*
Cc
In (a) +

[uv’ = uv — [ u'v :p'p1na nrxnavIX



N'TOAN NIMLVNNIANML NMINT

sin(a) = cos (g - a) cos(a) = sin (g — a) tan(a) = cot (g — a) cot(a) = tan (E — a)

2
sin(a) _
tan(a) = cos(@) tan(a) - cot(a) =1 sin?(a) + cos?(a) = 1
sin(—a) = —sin(a) cos(—a) = cos(a) tan(—a) = —tan(a)
sin(mr — @) = sin(a) cos(mr — a) = —cos(a) tan(wr — a) = —tan(a)

sin(2a) = 2sinacosa cos(2a) = cos?a —sin?a = 2cos?a —1=1-2sina

sin(a + ) = sinacosf + cosasinf  cos(a t+ B) = cosacosf + sinasinf

. . axB a+p
sina *+ sinf = 2sin cos
2 2
a+ a— a+ a—
cosa + cosf = 2 cos Zﬂcos Zﬂ cosa — cosfi = —2sin Zﬁsin Zﬂ

:n"0'02n 1I7Mv "IV

1 oo
_XZZx”=1+x+x2+x3+--- (-1<x<1)
=0

1
1+X=Z(—x)”:1—x+x2—x3+--- (-1<x<1)

3

aQ

x

I
S o
gPV18

xn—1+ P S N
nl Xt gx (V)

b X210

cos() = D (I 2= 1o g bk b (V)
(2n)! 2 24 720

n_

[oe]

x2n+1 1 1 1

sin(x)=Z(— )”(2 D x—gx +m 5—5040x7+--- (Vx)

n=

.t =X — xg NAXN YNNWUN7 U' x # 02170 1170 110 NR'¥NY



NN "™ N Xnon
y' +p(x)y =qXx)

y = e_f p(x)dx . (C + f(q(x) . efp(x)dx)dx

NPUTA 1" TN NIXIA0N MIA
P(x,y)dx + Q(x,y)dy =0

Py—0Qx Qx—P
@ =TT gy =l

MU9IN DN™ID YW 2DINN WYY D'RNNA [INNY ,D'IA7 DMTEN DY N2AMIN NN Y

"7 D'RINN NN L(JNN9 N TIAXD DA T'AN) A = a £ bi '1"9IRN DIY7197 NND NN
nhe

y = C;e* cos(bx) + Cre*sin (bx)

NAMIA X7 D'TZN DY 212 YToNn NMINAY? VTN winna no'w

‘m N D719 f(x) DX

.M T0N D719 y, D'WNIN "IN DNIDN 7Y WY PR A =0 DK e
D191 A = 0 YW nptnn k YwRd ,x¥-2 79310 Yp MIXTIX D'UNIN D DX ®

MM9IND
:e%*-2%793m m naTn D19 f(x) DX

-1 790mMn m 1T10N DI'7I9 Yp D'UNIN "1"OINN DRN7I9N W UNIW 'R A =a DX e
.eax

1UDIND DI7I9A A YW AT k AWRD K- 790m y, MIN NN D'WNIN D DX e
:e®cos (bx)-2 I e*sin (bx)-2 792 m naTn DN*I9 f(x) DX

Yp = D'UNIN ,1"OIND DIION Y WY 'R A =a + biDXK o
D'NI*7I9 Y DN Q,, (X), Ry (x) CWKD e sin(bx) Q@ (x) + e cos(bx) Ry, (x)
['AN NI2AN YTON DX DN NN MY 7w 1N X0 f(x) DX .m 170N DY
.0'Mn"1on Y

JU9IND D792 A 7w ApTnn k wRd ,xk-a 790m Yp MINDX D'UNIN ,DDX ®



IMDIYNA V7 IR NO'YI V7R NV'Y NIRNON
(X0, ¥0) N7NNN NN Yy’ = f(x, y) n'nnnn nnaixa " naima
Xp = Xp_1+h=xy+nh

Yn=Yn-1+h- f(xn_1,Yn-1)

noiun

! h h !
Yn=Yn-1thy — p=Ynath: f(xn_l to -ty Yn—1>
n-1"o

N"MId A0 MTIN

J[—m, ] nuoa f(x) N'¥RPA97 01oNN NI NIV

(0.0)
a
flx)= 70 + Z [a,, cos(nx) + b, sin(nx)]
n=1
:NNONN Y D1INI NMIID MTEZN TWUKD

a, = %jjtf(x) cos(nx) dx

b _1[ ' d
n —Ef_ﬂf(x) sin(nx) dx



	מבחן מועד ב
	נוסחאון למבחן

